W09 NOYSOBYM} MMM

Model

Single side swing clamp

Double side swing clamp

1
<H 3
STROKE ‘
N ‘ *
c
\ \ i
I A I
! |
L 1, L,
: | M : |
t D Ciamping Port t D
L*S'H T 5
- s - Unclamping Port - s -
HNU i EERE A0 RS HNUD
9"%’{#% Dimension table S84 Unit) :mm

HNU-32 | 29 | 111| 82 | 76 | 25 | 25 | 55 | 10 | 9

M10x 1.5 | 44/30 | 56/69 | ©65/0105 | M50x1.5 | ®4822.5°/12.5/24.9

HNU-40 | 29 [1136/84.6 80 | 27 | 25 55 | 10 | 9 | M10x1.5 48314 62715 | 0650105 M55x1.5 |®53/225° 14 | 26

HNU-50 | 29 [1145|85.5 80 | 27 | 25 | 55 | 10 | 9 |M10x1.5 57/376 | 74/87 | ©8.5/®14 | M65x1.5 |®63| 20° | 14 |27.4

HNU-63 29 118 89 85 32 32 75 11 9 | M12x1.75 | 70/46 | 881055 ©11/0165 | M80x1.5 | ®77|22.5° 19 | 38

HNUD-32 | 29 | 111 | 82 | 76 | 25 | 22 120 9 | 10 | ®8 | 44/30 | 56/69 | ®65/0105 | M50x1.5 |®48 |225°/12.5 24.9
HNUD-40 | 29 1136 84.6 80 | 27 22 120 9 | 10  ®8 488314 62715 0650105 M55x1.5 ®53 225° 14 26
HNUD-50 | 29 |1145|85.5| 80 | 27 | 22 (120 9 | 10 | ®8 | 57/37.6 | 74/87 | ©8.5/014 | M65x1.5 |©63|20° | 14 |27.4

HNUD-63 | 29 | 118 | 89 | 85 | 32 | 25 |140| 9 | 12 |®10| 70/46 | 881055 ©011/0165 | M80x1.5 |®77 225° 19 | 38

147

Model| HTB i ZS5hERET

SRBRE/N, R AR, e T IR Y AR

SRR, HERE, ARACRMA, REREK

& STABPPEOR SO R R, R R TRIE, REDLH,
EARAR

euiE, PEmRERRRE, RARMER

Introduction of product

#Compact construction for space saving. Ideal for application ina
restricted space.

pecifications. Direct

further accessories for saving cost.

#The cylinder barrel is manufactured from structural carbon steel.
Internal surface s specially treated. Smoothness and long service

# Axial and side manifold type without upgrading pipe. Beautiful
appearance.

$5PEEERL Specification
#li Axial

Bl Side

& A /1 §5ERange of pressure (kg/cm?)

KR Installation type

0 i T B R T MR R E 2

A comparison of length between
the traditional hydraulic cylinder
and thin type cylinder.

without need of any

life.

5-140kg/cm’

B YhSD;#¥iSW Single end rod SD;Double end rod SW
BEHLAM#LW Sing end rod LA;Double end rod LW

& A= E# @ The range of speed

8-100mm/sec

{& IR [ 45 & The range of temperature

-10~+60T

1 At Fluid

Billif 2 B M i Filtered oil

1@ F 3¢ Acting type

# W5t Double acting

&L AR+ E Material of cylinder barrel

%M Carbon steel

ﬂ%’nﬁﬂl j] ﬁ Clamping force

ZEER

Pressure area(cm’)

EEFE

ore | m
of cylinder | BOre orpiston
(mm) F1 F2

F13f Pushout <—

F2:4 N Pullin —

#21EE /1 Operation pressure(kg/cm?)
35 100

F1

B4z (Unit) :mm

20 12 3.14 2.01 31 20 110 7 220 141 314 201 440 281
25 14 4.91 3.37 49 34 172 118 344 236 491 337 687 472
32 20 8.04 4.9 80 49 281 172 563 343 804 490 | 1126 | 686
40 25 12.57 7.66 126 77 440 268 880 536 | 1257 | 766 | 1760 | 1072
50 30 19.64 12.57 196 126 687 440 | 1375 | 880 | 1964 | 1257 | 2750 | 1760
063 35 31.17 21.55 312 216 | 1091 754 | 2182 1509 K 3117 | 2155 4364 @ 3017
©80 45 50.27 34.37 503 344 | 1759 | 1203 | 3519 | 2406 | 5027 | 3437 | 7038 @ 4812
148

W02 NOYSORYMI MMM




Model

W09 NOYSORYMY MMM

HTB F#HE)

SD i[5 Z 4 B (B #) 9 20- 0 80
SD Axial Mounting Type(Single End Rod)

SW i ) 2 4 B (L ) © 32- © 80
SW Axial Mounting Type(Double End Rod)

SDM-A#ii [3] B i 2 4R & © 20- ©80
SDM-A Axial Front Manifold Type

SDM B 5] # it # 4R & ©20- 980
SDM-B Axial Back Manifold Type

HTM 5 2 % el R 4T © 32- 080
HTM Magnetic-type hydraulic cylinder

E W

LA {5 %2 4 U (B2 ) ©32- 063
LA Side Mounting Type(Single End Rod)

LW {3l ) 224 2 (L ) ©32-063
LW Side Mounting Type(Double End Rod)

LAMIAI [ e 285 B (B ) © 32- 0 63
LAM Side Mounting Type(Single End Rod)

LWM fA) 1) e 247 2 (4 8) 0 32- 0 63
LWM Side Mounting Type(Double End Rod)

AR BRZATH, THEHRERT 020-080
Rod end type as request

Model| HTB %S hERET

s Ordering Code

(HTe i sD Jf 32 B4 20 f N

L

@ @ 6 @ 6

B33
@ Series (iLEE)
@ AR sD ‘ %15 $4 Single end rod type
Mountungtype | gy ‘ 4 (51504 Double end rod type
Q T =
@ | ot F B er 20,025,632, 40,650, 663, ¢ 80
e T
(@ | staniarstroke | Ploase refdi 1o the ke 25
® A FZN: Female thread N
s | Rodendiype $hEFW:Male thread W

1‘]‘&’@1@2& Stroke specifications
;;"E SD SDM SD SDM LAM LWM

STROKE 7€ 020 | 025 40  ©50 | ©63 | © 32  ©40 | 050 ©63 ©40  ©50 | ©63
5 . . . . . . ° . ° . ° . . . °
10 . . . . 3 . 3 . ° . ° . o . .
15 ° ° ° . ° ° ° . ° ° ° . . . .
20 ° ° ° ° ° ° ° . ° ° ° ° ° ° °
25 ° ° ° ° ° ° ° ° ° ° ° ° ° ° °
30 ° ° ° ° ° ° ° ° ° ° ° ° ° ° °
40 . . . ° . . ° . ° . ° . ° . .
50 . . . ° ° . 3 . 3 . ° ° ° . .

N
3
EI T T
64 ¢ o{O)o -4
QTS
P2+ST P1 | CL SW. A+ST WL
B+ST C, OF AL+ST
A+ST CE
SW-w
3] }=
| lo P3:ST | _P1 cL WL | _CesST BB+ST cl.w
C+ST BB+ST _(z AW+2ST
AN+2ST
ST=Stroke
[/, N N

42 R ~F 3R Dimension table B4z Unit) :mm
Bore A AL AN AW B BB C CL D SW E F M N WL P1 P2 P3 R PT
420 51| 71| - | — 43| - 8 6 | 12|10 |42 |30 |5.5|/5.6| 9 |M8x1.25x12D|M10x1.25 20 [22.5/ 11 | — 5 |1/8
$25 53 | 75| - | - 45| — 8 6 (14 12 |48 | 36 55|56 9 M10x1.5x15D M12x1.25 22 | 23 | 12 | — 5 1/8
$32 64 | 89| 89 139 54 |69 | 10| 7 | 20| 17 | 62 | 47 |6.5/6.8| 11 M12x1.75x15D M16x1.5| 25 | 28 | 14 | 13 | 10 | 1/4
$40| 65 | 95 | 90 |150| 55 |70 | 10| 7 | 25|22 |70 |52 | 9 9 | 14 M16x2.0x20D M22x1.5 30 | 28 | 15 | 14 10 | 1/4
$50 71 106/ 97 (167 60 | 75 | 11| 8 | 30|27 | 80 | 58 | 11| 11 | 18 | M20x2.5x25D | M26x1.5| 35 [29.5/ 18 | 16 | 10 | 1/4
$63 80 120 108 188 67 82 13| 10 | 35| 32 94 69 | 13| 13 | 20 M27x3.0x35D| M30x1.5 40 | 31 | 20 | 20 | 10 | 3/8
¢80 95 (140/127|217| 78 | 93 | 17 | 14 | 45| 41 |[114| 86 | 15| 15 | 22 |M30x3.5x35D| M39x1.5| 45 | 33 | 27 | 27 | 15 | 3/8

150

W00 NOYSORYMI MMM




W09 NOYSOBYM} MMM

Model

IR 1% Ordering Code

ﬂmmxmn

@

Q]

BB

@ ®

O1-Rin

9"13 Rﬂ‘ﬁ Dimension table

R1

FA

o] HTe

| wEEES. SDMA\mmmﬁﬁammAx.éwqron«mam@d[ype
SDMB‘!mm&mam& Axial back manifold type

® | ot P iRder ©20,025,032,040,050,063, 980

@ | statiotidtoke | Ploase refht o th otk op

® | MBS, e rosd W

oM
£
}

oD
[ ]

B+ST

A+ST

AL+ST

A+ST ‘

ST=Stroke

n)\yE‘L
Pullin

i (Unit) :mm

AR TE Ordering Code

El-El KN
o @ &

L

EB

@ Series (13

N [ 3888 Single end rod type
Mountingtype I\ ‘Mm&mnuub\eend rod type

® Borfg&’,nnder ©32,040,050,063

@ Slar%ardet?oke 10.20.30.40.50

® Rogéien txype BFW ’;:‘r:'arl‘%gtr’e‘;ld N

KB,

FA

2

cL, Kka__lkw|
c B+ST
A+ST
2-pPT

KT oD

|20

ke

3

C+ST

9"’[‘3 RTJ‘ ﬁ Dimension table

Bore A AL ANAW B BB| C |CL D SW

wL ;‘ BB+ST C+ST_|_WL

AW+2ST
IR R

Dimension table & ( Unit) :mm

Bore KW KT KL KA KB

©32 12 8 63 | 28 | 4.5

EA EB|/LH FA FB|FF H K M
20/17|70|56 25|56

Dél ©40 12 8 70 28 45

tl 50 14| 9 | 80 |29 | 5
ST=Stroke ©63) 16 | 10 | 100| 31 |55
B{ (Unit) :mm
N WL/ P1|P2 P3| R |PT|

M12x1.76x15D | M16x1.5 |25/28|1413|10(1/4

Bore A | Al D sw M SDMA SDMB

R2 02
©20 71 6 | 12 | 10 9 |MBx1.25x12D. 20 |16.5/ 13 | P3| 13 | 11 | P5
025 75 6 | 14 | 12 9 |M10x1.5x15D. 22 195 18 | P4 16 | 13 | P7
32 89 7 |20 |17 11 |[M12x1.75x 15D. 25 | 24 | 24 P6 | 20 | 20 P9
©40 95 7 |25 | 22 14 |M16x2.0x20D. 30 | 27 | 26 | P6 | 24 | 20 | P9
50 106 8 | 30 | 27 18 |M20x2.5x25D. 35|32 |27 | P6 | 29|20 | P9
©63 120 10 | 35 | 32 20 |M27x3.0x35D. 40 | 38 | 35 P8 | 35 26 P11
©80 140 14 | 45 | 41 22 |M30x3.5x35D. 45 | 47 | 45 P11 44 | 30 P11

25/22|80|64 29|62

M16x2.0x20D | M22x1.5 |30 28|15|14 10|1/4

30|27|94|74 34|74

M20x2.5x25D | M26x1.5 |3529518(16/10(1/4

35/32[114/ 89 | 42|90

M27x3.0x35D | M30x1.5 |40 31/20(20 10/3/8

W02 NOYSORYMI MMM



W09 NOYSOBYMY MMM

Model HTB %3l

LAM-N

LH

IR Ordering Code
EX-<El KN

]
® ® ©

HTB

LAM fiIf5 8% Single end rod type

LWM {8iié1 €8 Double end rod type

KT oD,

EB
\ \\y

Bor il i liader [©32,040,050,063

®e ® |9

AT
Standard stroke

10.20.30.40.50

ZN: Female thread N
ZFW:Male thread W

1 Wy ‘_17 o FIR10mmIE B R T8t
e s Strole: 10mm without key.
ka__|kw |0
B+ST Lol =t
A+ST 1l
|
Ly W
B =4 ey
wi A+ST
0-Ring \ AL+ST
_O-Ri
—1T
z —1
< L
P1|_Pa+ST 4-0K cosT | WL
om
=
| -
- . SBIT Ak
— Dimension table EZ(Unit) :mm
o _ o]
B : -
% il 2 D
o Xl‘ fﬂ it 032 12| 8 | 63 | 38 | 45
(o KA ‘KM‘O‘ f e ©40 12| 8 | 70 | 38 | 45
c
BB+ST C+ST ©50 14 | 9 |80 40| 5

7"% Rﬂ‘ & Dimension table

Borel A |AL|ANAW B BB| C CL| D SW|EA EB|LH FAFB FF| H K| M
©32/64 89|89 139 54| 69

17(70 56|25 56| 24

®63| 16 | 10 100 42 5.5

B (Unit) :mm
w WL/ P1/P2/P3 R| O
M16x1.5 |25/28|14 13|10 P9

®40 65| 95 90 150 55 | 70

22|80 64|29 62|23

M22x1.5 |30/ 28(15(14 |10/ P9

®50| 71/106 97 [167 60 | 75

27/94|74|34 74|27

M26x1.5 | 35295 18(16 10 P11

©63 80 120108188 67 | 82

32114 89|42 90|32

M30x1.5 |40|31(20(20 10|P11

Model HTM 5

sIEEER Tk Ordering Code

R TIXE)

R5l% HTM
REWR sD [#@ ma sing end rod type
Mounting type SW__ | WM &M Double endrod type

i A fEBore of cylinder|

$32.$40. $50.¢63. $80

Bl

Standard stroke

10.20. 30. 40. 50

[#hi% % % Rod end type|

P %N Female thread N 5 5F:W Male thread W

IR BB
Sensor swithth

1{BpcsS1 2fEpcsS2

WMPressureDC4-24V  FiElectricity5-40mA
~120V

_|loL l P3+ST | P1 cL wL BB+ST
T
C+ST BB+ST C AW+2ST
AN+2ST
SMER T K Dimension table i Unit) mm

Bore A AN AW B BB C CL D sSw E

$32| 83 108 104 154 73 | 84 | 10| 7 |20 17 | 62

6.8 11 M12x1.75x15D.M16x 1.5/ 25 | 27 | 29 | 30 | 10 |1/4

L/ P1 P2 P3 R PT

$40 80 110 101 161 70 81 10| 7 |25 21 | 70

9 | 14 |[M16x2.0x20D. M20x 1.5/ 30 | 27 | 27 | 27 | 10 |1/4

$50| 86 121/109 /179 75 | 87 | 11| 8 | 30 | 27 | 80

11| 18 |[M20x2.5x25D. M24x 1.5/ 35 | 28 | 31 | 31 | 10 |1/4

$63| 97 | 142120210 84 | 94 13 | 10 | 35 32 | 94

@
N
S

M27x3.0x33D. M30x 1.5/ 45 | 30 | 36 | 34 | 10 |1/4

$80|112/167|140|250| 95 |106 17 | 14 | 40 | 37 |114

15 | 22 | M30x3.5x33D. M36x1.5 55 | 35 38 36 15 3/8

- EABH>10Mpals, SIRETRARFMAR.

W02 NOYSOBYMY MMM



